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PH 317 Calculate Erad from Brad  
January 20, 2007
Name ________________  Box _____

Curl A = r^/(r sin () [((A( sin ()/(( - ((A()/((] +(^/r (1/(sin ()((Ar)/((  -((rA()/(r)  + (^/r ( ((rA()/(r - ((Ar)/(()   (15)

In the radiation handout, we have (24), p. 4,


Brad = -(k^ x po) k2 exp(ikr - i(t)/r  (c(o/4() .





(24)

Griffiths started with cos((t), instead of exp(-i(t) so the signs in his exponents are backward from ours. This leads to a minus sign in his vector potential A (Eq. 11.17) because the sign on exp(ikr) is reversed.

Show that we have an opposite sign for Brad than Griffiths' Eq. (11.19), p. 447 for Brad, and his 

cos((t - kr) ( our exp(ikr - i(t).

Use Maxwell's equations to obtain Erad from Brad. This should differ from Griffiths'  11.18, p. 447

by an overall minus sign, and his cos((t - kr) ( our exp(ikr - i(t). 

Explain why you are doing some stuff and ignoring other stuff.


Erad = - (^ (o po (2 /(4() (sin ( / r) cos((t - kr) 




(11.18)

